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SECTION A
Instructions: Answer any two questions in this section

Question 1

(a) Describe the meaning of educational research showing how it is different from

journalism? (5 marks)
(b) Using practical examples, discuss any four different purposes of educational research.
(20 marks)
[Total 25 marks]|
Question 2

(a) Examine the significance of the literature review in enhancing the quality of a

research study. (15 marks)
(b) Describe the features of each of the four sub-sections in organizing and developing a

proper literature review with a beginning, the middle and an end. (10 marks)

[Total 25 marks]

Question 3

Discuss any five differences between a survey and a case study research design. [Total 25
marks]

. SECTION B
Instructions: Answer any two questions in this section
Question 4

Scores below are pairs of marks for siSwati (X) and Geography (Y).

Table 1 SiSwati and Geography scores

Student A B C D E F G H | J

SiSwati (x) 50 80 55 75 60 70 65 65 58 72

Geography(y) | 60 |80 |45 |85 |50 |65 |55 |60 |50 |70




Question5S

(a) Using information in Table 1 above draw a scatter gram.

Using the scores above calculate the Spearmen’s rank order correlation

coefficient.
marks) o
State the range for Geography.

State one advantage and one disadvantage of the range.

(10 marks)

(1 mark)
(4 marks)
[Total 25 marks]

(b) Calculate the Standard deviation of Geography using information in Table 1. (10

marks)

(c) Calculate the median of siSwati.

(d) Give any two disadvantages of the median.

Question 6

(3 marks)
(2 marks)
[Total 25 marks]

A Psychologist claims that students who perform well in English do not necessarily perform

well in Mathematics. She collects the scores for 10 students and construct the following table.

Table 2 Maths and English scores

Student | A B C D E F G H I J
English | 44 70 70 78 80 45 70 56 80 78
Maths | 36 64 8o 72 84 35 84 64 70 62

Using information in Table 2 above calculate Pearson’s product moment correlation

coefficient and comment on it.

marks]

25
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STATISTICAL FORMULAE

2

SZ — Zx-x
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Sample Standard Deviation: 5= Z'(::_:

Product moment correlation coefficient:

Sample Variance:

o nyxy - $a%y
xy -
VnEx? - (E0)?][nTy? — (5y)?]
2
Spearman’s rank order correlation coefficient: rho=1- né’fil)
ey
Chi-squared Test Statistic: x% = > Q}E_)
xz_
Z-score: z =
s
Standardisation: z= ua__—_u_ Where Z ~N(0,1)
T-score: T=50+10 (xT_Y)
Student t-test: = Y- Fd

VnEd?i-(3d)?



ANALYSIS OF VARIANCE (ANOVA) FORMULAE

2
l. SS(TOTAL)=Yx* - &2
2. SST=SS(Treatment) = SS(Btwn Grps) =y & — 2T @ | Z—i . G2p
n; n ny Ny n
3. SSE =SS (TOTAL) — SST
[N.B. SSE =SS (Error) =SS (Within Groups) = SS (Residual)/

4. MsT==L

p—1
5. MSE=2%

n-p

MST
6. calc = ysE
ONE-WAY ANOVA TABLE
Source of Sum of squares | Degrees of Mean Square Featc
variation Freedom (df)
Between Groups | SST p-1 MST = SST
(Treatments) ' p-1
Within Groups SSE n-p MSE = SSE . __ MST
(Error or n-p Feare = MSE
Residual)
Total SS(TOTAL) |n-1

n = total number of observations

»

p = number of treatments (number of samples or groups)

p-1 = numerator degrees of freedom

n-p = denominator degrees of freedom

T;= total for groupi(i=1,2,3, ..., p)

n;= number of observations in groupi(i=1,2,3,...,p)



TARLE ¥ Critical Values ot Chi Square
i‘ ; Level of significante for @ non-girectional test ‘
oar L LE i (i b0 P L0 -
T e |2 T 3 | osa | &
T = R 5 L S -y
‘ 3 468 1 825 Ter Looss oy r
| \ B N 7 I R X | e Lo1aas
l[ 3 { 720 | §.24 \ 17.07 ,‘ 13.39 l 13.09
6 1 S.56 \ 1064 | 23 15.03 16.8)
7 \ .80 2.2 | 1407 16.62 18.48
, 3 1103 | 1336 | 183 | 18.17 20.09
‘ ] \ 12.24 \ 1963 | 16.92 19,48 21.67
L0 13.44 15.99 \ 1831 \ 2116 73.21
m@ 1 14.43 | 178 19.65 7.6 24.72
12 15.3] l 18.55 11.03 \ 24 .05 26.22
13 16.98 19.81 1mae | 2347 27.69
14 18.15 \ 106 | D8 | 2n@ 29.14
15 19.3] 22.3] 25.00 28.26 30.58
16 20.46 23.54 2630 1 29.63 32.00
117 21.62 24.77 - 27.59 371.00 33.41
18 22.76 25.99 28.87 32.35 34.80
19 23,90 27.20 30.14 33.60 36.19
2 25.04 28.41 31.41 \ 35.02 17.57
21 26.17 29.62 32.67 36.34 38.03
o 27.30 30.8) 33.02 \ 37.66 40.29
N 23 18.43 32.01 35.17 38.97, 41.64
4 29.55 33 .20 1442 40.27 42 .98
25 30.68 34.38 17.65 41.57 44.31
2 11.80 35.56 38.83 42.86 45.64
27 12.91 36.74 40.11 4414 46.96
28 34.03 37.92. 41.34 45.42 48,28
29 35.14 39.09 42.69 46.69 49.59
3 36.25 40.26° 43.71 47.96 50.89
2 33.47 . 42.30 46.19 50.49 53.49
34 40.68 44.90 48.60 51.00 . 56.06
36 42 .88 47.21 51.00 35.49 58.62
38 45.08 49.51 43.33 57.97 61.16
40 47.27 SR 35.76 60.44 3.
44 51.64 56.37 \ 60.48 65.34 68.71
48 35.99 60.91 65.17 70.20 73.68
52 50.33 55.42 69.83 75.02 78.62
| 8466 | 69 .92 74.47 79.82 §3.51
| 80 | 6597 | 7440 79.08 84.58 a8.

Find the row corresponding o the indicated degrees of freedom, find the
column carresponding 10 the ‘chosen level of significance, the critical
value of Y&, is at ihe :ntersection of that row and that column. I
Voo = Yoenn (NS0 H_is rejected. :
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TABLE i

R R

Critical Values of € Siudent t-test

! Level of sigmficance for a directional (one-tailed) 125t \l
:'x a0 105 |0 Rl | 005§ 0005 4
: l—' Level of significance 107 & con-directional (1wo-tailed]j test \i
L oar | a0 a0 os 1 . | 01} 001 |
o . . : ; L — :
T ams | 6314 | 32706 3182 1 63,657 636.619 \
| 2 \ 1§86 | 2920 | 4.303 \ 6065 | 9.923 31.598 |
‘ 3] 1638 2353 | 3182 4341 .| 5.84) i2.941 |
\ 4 1.533 2.132 2.776 1,747 4.604 §.610 \
l 5 \ 1.476 - 2.015 2.571 1,363 4.032 6.859 \
| 6 1 142 1.943 2447 | 3.143 \ 3.707 5.959
L7 \ 1.415 1.895 2.365 2.998 3.499 5.405
| 8 1.397 1.860 2.306 1896 | 3.355 5.041
i 9 ) 1383 1.833 2262 | 28210 | -3.250 4.781
410 13707 1812 23E | 2764 3.169 4.587
" 11 1.363 1.796 - 2.201 2.718 3.106 4.437
P12 1.356 1.782 2.179 2.681 3.055 4.318
\ 13 1.350 1771 2.160 2.650 3.012 4.22]
14 1.345 1.761 2.145 2,624 2.971 4.140
P15 1.341 1.753 2.13) 2.602 2.947 4.073
\ 16 1337 | 1746 2,120 2583 --b- 2921 4.015
L3713 | 1740 2.110 | 2.567 2.898 3.965
i 18 1.330 C 1,734 2.101 2.552 2.878 3.922
| 1.328 1.729 2.093 2.539 2.86 3.883
L 20 1.325 1.725 2,086 2.528 2.845 3.850
\ 21 1.323 1721 .| 2.080 2.518 2.831 3.819
22 1.321 1.717 2.074 2.508 2.819 3.792
23 1.319 1.714 2.069 2.500 2.807 3.767
24 1.318 1.711 2.064 2.492 2.797 3.745
I 25 1.316 1.708 2.060 2.485 2.787 3725
26 1.315 1.706 2.056 2.479 2.719 3.707
27 1.314 1.703 2.052 2.473 2.711 3.690
78 1.313 1.701 2.048 2.467 2.763 3.674
29 1.21] 1.699 | 2.045 2.462 2.756 3.659
\ 30 1.310 1.697 2.042 2.457 2.750 . 36406
| a0 | 1303 ] 684 2.021 2.423 2.704 f3.551
50 1.296 1.671 2.000 2.390 2.660 3.460
\! 120 1280 | 1638 1.980 2.358 2.617 3.373
L= 1282 | 1645 1.960 2.326 2.576 3 291_J

Find the row corresponding 1o the indicaled degrees of freedom, find the

colurn corresponding to the

chosen level of significance, taking into ac-

count the type of H, (directional or non-directional). The critical value i,

is al the inlersection of that row 2
is rejected.

nd ihat column. H 1. = i, then H,



